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19 x 80% = 35 x 60% =

37 x20% = 66 x 40% =

39 x 80% = 22 x 60% =

3 x90% = 49 x 70% =

97 x 90% = 76 x 10% =

21 x 50% = 73 x 80% =

68 x 60% = 88 x 80% =

4 x90% = 25 x90% =

60 x 10% = 64 x 10% =

61 x70% = 59 x 40% =
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ARSI E b

G

19 x 80% = 15.2

37 x20% =74

39 x 80% = 31.2

3 x90% = 2.7

97 x90% = 87.3

21 x50% = 10.5

68 x 60% = 40.8

4 x90% = 3.6

60 x 10% = 6

61 x70% = 42.7

H -

35 x60% = 21

66 x 40% = 26.4

22 x60% = 13.2

49 x70% = 34.3

76 x 10% = 7.6

73 x 80% = 58.4

88 x 80% = 70.4

25 x90% = 22.5

64 x 10% = 6.4

59 x 40% = 23.6
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